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Philosophical Analysis

Group-A

Answer any four of the following questions : 5×4=20

1. Distinguish between primary and secondary meaning of a word with example.

2. Can a definition be true or false?

3. Distinguish between—(a) S believes that P, (b) S knows that P.

4. What is concept? What are the differences between concept and image?

5. Distinguish between nature of truth and criterion of truth.

6. Distinguish between determinism and indeterminism.
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Candidates are required to give their answers in their own
words as far as practicable.

The figures in the margin indicate full marks.

P.T.O.



Group-B

Answer any two of the following questions : 10×2=20

7. Explain and illustrate different senses of the word ‘meaning’.

8. What is meant by ‘definition’? Discuss fully.

9. Explain and examine the correspondence theory of truth.

10. What is propositional knowledge? Explain the conditions of propositional knowledge.
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Or,

Paper - SEC 2-T

Man and Environment

  Full Marks : 40 Time : 2 Hours

Group-A

Answer any four of the following questions : 5×4=20

1. What was the ancient Indian approach to environment?

2. What does the R. gveda say about the Nature?

3. How does Tagore describe the concept of nature?

4. Analyse the concept of Respect for Nature.

5. What does biocentrism believe about the value of various parts of nature?

6. What was Arne Naess ideas regarding his philosophy of Deep Ecology?

Group-B

Answer any two of the following questions : 10×2=20

7. State and explain Upanisadic thought about ecology. 10

8. What is Ecology? Distinguish between Shallow and Deep Ecology? 2+8

9. What is Intrinsic Value? Does nature have Intrinsic Value or Instrumental Value?
2+8

10. Who is associated with ecofeminism in India? What are the basic claims of
ecofeminism? How is ecofeminism relevant today? 2+4+4
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